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Hi A7 X FRE i H SRR R BIE a =0 L A =B. %
PR B A i, XA A R IR
A+B)=b<t A-+B )

a(tanA*tan 5 an T*tanB

D) TG A HE S N P TR R B AR 4. A A SR 2
BT 15 a=0. R 0L DK A5 A8 47 46 5 0 B AL AR 7S
er —cos AsinAerB
ar A+B

cos Acos 2

sin Acos

A-+B o

2 cos B—cos 2
A-+B
2

sin B

sin

cos Bcos

Hp

it LA
a b . . A—B
cosA_cosBEZ‘Slrl 2
A —Z5 R A AR a=0b, WA . b §5
b mA A a=2Rsin A,b=2Rsin B; 7] i 4 5% &

=0
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L6 cos A.cos B¥tb Rl a.b,c. Bi— T RIF A=B.
i — 5 Rk a=0 YAl FATHUR — 7 2 B 13 B tan A=
tan B. A A.B 2 =MIENMA.TEE 1. 1 2R, EV 2
R A=BL 5 85 1A A=DB 2 B M. i
TE BT FRATT A A

ERR N

A+B

atan A-+btan B= (a-+b)tan 5

B LA

A—I—B>:b<t A—ZO—B )

a(tanA—tan 7 an ————tan B

TR
a o b . . A_B_
cosA_cosBEZ ST =0

I A

2Rsin A 2Rsin B_A—DB
= Ej_(; 5 =

cos A cos B 0

Hp
tan A=tan B a{ A —B=0
e LA
A=B
WMAABC 25 = fMfE.
Bl 13 fEAABC A —A Wi i 60/ 7853 b
A4S sin 3A+sin 3B+sin 3C=0.
BEFHFE BE S HMLIM LG A

sin 3A+sin 3B+ sin 3C= —4cos %cos gcos 3C

2 2 2
[ &L
sin 3A+sin 3B-+sin 3C=0
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S TR
3A 3B 3C_

COS —=— €08 ——c0s — =0

2 2 2
WA i A UE B A2 1+ A 5 T
UERR AL EME B — N 60°

b —A 90°. ik
cos %,cos @,cos 3C
2 2 2
bl —A4 0 0. LA
COS —,—COs @cos 3C=O
2 2 2
&l
sin 3A+sin 3B+sin 3C=0
Fe5r M ¥ sin 3A+sin 3B+sin 3C=0
)
—4cos %cos @cos gj=O
2 2 2
i
cos %:O,COS %:O,COS %:o
HA AT — A AT

gt 28 Sy 4s2 00
Eﬁ A’B9C EF'LZ‘%‘Q/I\IEIL_‘ 600~

tan A _ sinA
5] 14 7£ AABC qj’a%ntanB_sinzB’
ANABC HERK.

BERE —MERERIA LT =MHE.
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(DA =M O HA =ML OBM =M. &N
oIS WA 530 = f T VSN = AR 8 R — Y = £
TE . WISV B 2 T TR 1) R0 SR it B AR AS 2 B i ) o (R 5
o R BR A S F RN AR T — 8 BB R
I A R, A 2 B A 1 O AR TR CAn ) 12) SR 5 W0
BERHWFOME? A G, B
W pyahie. iR &R 8T AL B, C XERR Y (f)
13) I Fn Ak B2 8 2 0 F B, R AR =00 o5 — i A8 o
0. X BB AT A4 & X F A, AT T s S F X
b

sin Acos A=sin Bcos B (10)
KAWL, 2, I H A% A AKX
sin 2A=sin 2B (1)

B R G e 7. B A B # 2 =ML N A,
BATE/NT 180° Bt E Al sin 2A =sin 2B, H A P af
it
2A=2B 8 2A=180"—2B 12
Bl A=DB 8 A+B=90°.
T AABC 2% 18 = 8 ol 2 B = TP,

Zx SR

1. 78 AABC 1 RIUE R 5145 K .
(1D)a=bsin Acsc B;
sinA+sinB_atb

sin C c
sin(A*B):aZ*bz_
sin(A+B) &

(2)

(3
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D a* +b* 4+ =2(bccos A+cacos B+abcos C);

(5)(b+c)cos A+ (c+a)cos B+ (a+b)cos C=
atb+tc;

(6)a(bcos C—ccos B) =b"—¢c";

(M asin(B—C) +bsin(C—A) +c¢sin(A—B) =0;

(8)b*sin 2C—+¢*sin 2B=2bcsin A ;

2 2 2
cosAJrcosBJrcos C_a" b+
b c 2abc

(10) a* (cos* B — cos*C) + b* (cos’C — cos*A) +
c?(cos* A—cos’B) =0.
2. T:E AABC EF'»B%D az 9]72 9C2 ﬁi%%%&ﬁ[ﬁ*ﬁlﬁ

cos A+cos C__Z2cos B

a ¢ b
3- E AABC ':P 7b’a7(/‘ Jﬁ%ttﬁﬁu 9;J‘ziIE
cos(B—C)=1—cos A—cos 2A
4.7 AABC H, B 5 ¢ —2(a” +6) +a' +a° b +

(9

bt =0, 3K3E :asin(éﬂg) — (b+o)sin %

a

5. 76 AABC th, C_bzcose,ﬁ‘ziﬁ

sin C _ csind
) 2 2./ab

6. TEANABC ®, 5 T2 BC i .84 T 4E BC
B L 3958 ACLAB T & M. N. GRS M 15 72
IN SR IE

(1)sin A=3sin(B—C) ;

(2)a" =3("—c*).

sin A sin(A—B)
TAEAABCH L, BRI G =G p— )

RAIE
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a* +ct=2b"

tan A—tan B _c
tan A+tan B

8. %6 AABC 1, B % j”,ﬁ‘zm

A=60°,
9. WAABC JyBiff =ML . ifi H.
a' +b' +ct=2c"(a®+b%)
SRAIE : C=45°,

a b c

10. ZTEAABC W, B A =

cosA cosB cosC’
SKAE: AABC /2531 = B,
11. ZEAABC F1, B #1 sin® A+ sin® B=sin’C,
SKAE: AABC 2 H M =B,
12. EAABC W, B 5l cos’ A+ cos’ B+cos’C=1,
SKAE: AABC 2 H M — M.
13. AABC H1,cos 3A+cos3B-+cos 3C=1,
SKAUE: AABC h b 5 — W £ 2y 120°
14. ZEAABC W ,B<<90°, H lg a—lg c=1g sin B=

1g%§,ﬁ‘<ﬁE:AABc AT = .

15. ZEAABC 1, a* + b6 4+ — 3abe =0, X Wi E
AABC fIEAR.
16. ZEAABC i, B2 1 cos 2B+cos 2C—cos 2A=1
2sin Bsin C=sin A
R E AABC ByIEAR.
17. B AABC Z8if =M. Hij e
tan A » tan C=3,tan B » tan C=6
SRAE : A=45°,
18. TEAABC 1, 2 J& cos A+ cos B=sin C, [}
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LEA R RA 4 S XE R cot 5 =

bJrc’
a
19. ZEAABC 1, cot A+cot B+ cot C=+/3 , i #ff
& ANABC AR,
20. FEAABC f SRIELLU T 482
C_s—a

B
(l)tan? s tan T

WMAABC AT 24 =M

(2)(at+b+o) (tan %than g) =2¢ * cot %;

(3)b » cos’ %-ﬁ-c + cos® gzg‘;

(4)sin Bzé sG—a)(s—b)(s—¢)

ac

(5)besin® % -+ casin® g + absin® % =bc+ca+

ab—s%;
B C A
(6)acos 5 COS 5 esC =85
(Dabecr=4R(s—a)(s—b)(s—c);

(8)4Rrs=abc;

o111
(10)4cos A-+bcos B+ccosC__ r
a+b+tc R"

21. AABC 1 =K 5 5k
£+l,l+£,£+ L

y 2z 2z X x y

RIE: AABC By LA = §+§+i.

X
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Jx = fi e 8 5 X WE W]

i~ ¥

TE =S UE DA b 2 18 B XA — 2K

[Fa) 5«

(1)3RE : arccos 3 +arccos 2=
7 11
<fL3 .
arccos 77) ;
(2) 3R3IF :arctan 1+arctan 2-+arctan 3=r;

(3) 3RHIF : arcsin x -+ arccos x:% (lx1<

D.

S ks AU AT S A RS R X
PR —R A e 5 25 S — ot
HA RS i B PR X T3 2K [n) A Sk
B i L I A 9 R B 5 vk G BE e T
A AR 28 55 SR TE W 3 AT LR AR 1. 1)
(D) B 4 i A XL ZE R AR iR o AR T

S A 2 AT R A — 1

A . ZLETE AT TAR A5 . FATTF B BUAL Y
O 3R] LA 22 30 W AN £ BEAT 5 8. 29K
FATAr Lk B UE I — 28 L TR 55 T e =
£ RBCH 23 20 AH R S PR b o AT Y
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Ry = A 45 30N 25 0 3 B RN B e B 5 i e A
PR DLSE R — A pR A 2R TE B O T IR B — A
= R B S T Ll R I = A 2 P
SR 24 1 AH ] sRBOE TR e AT SR, iR R
S AR S A T R TR eR Y (B A 4, X
P A £ TE 12 R B [) — B8 DX R) P L I8 4 FRATT g AT DA
WEAS R = A A8 22300 5 A 300 10 1 A A A 2. DT 52 A
TUEM. 3R S = A R A SR R AR . R
BEUE G R = A sRBCAE 2 B T AR A A L B A TE Ay
A T O J0HE AR G = A R R AR S R 5K
D0 7 N [ 9 Ry W O 5 e 1 R S i TR R VAR B
fiff A AT XoF PRSI SRR M A B 0 DL R R AT S
B — B B s ORI A

x| <1 W, arcsin o« HE XL ERRA—AM .0
o S Es

s . T .
—?<arcs1n 1<? ,sin(arcsin x) =x

M| x| <1 W}, arccos @ A B LB RRA—AH L
jis s

0<larccos x<<,cos(arccos x) =2x
FHT- 2 S8 v, arctan x #HRA B X, B Rl 2 S 0F
*%<arc tan 1<% ,tan(arc tan x) =x A
AT B SR 2 arccot & FRA B L. B RR i 2 5K
0<Zarccot x<mx,cot(arccot x) =x M
— it Hh s arcsinCsin x) = x F A BT, 76 0 &6 14
RN RS WSy AR

arcsin(sin ) =x ( — <I<%)

s
2
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arccos(cos 1) =2 (0<a<<rn)

arctan(tan x) =x < *%<I<%)

arccot(cot x) =x(0<x<x)

1 4n arcsin(sin %n) ?i%n XN arcsin< sin %)

[ 5 [ s A g [ R

FUME S AR n BRI~ 5 i A
&AL

arcsin(sin %)Zarcsin[sin(r{—%>}:

arcsin(sin %):%

v sin(aresin ) =2 (|2 [ <D & FE TR EHZ 1
ARG HEZ . B RIRATIE %5 I 1E 5% 1 B Af
“HCH RIS, IE A O YR R — R
IR Y o MR = RS FE S A R AN [R] 44 B, A0
cos(arcsin ) BT L EAE B TR M8 = M B C &R
385 10 PR B AL R 5 465 S PR [R] 44 B9 1E PRI 4N

2

cos(arcsin x) = +/1—sin’ (arcsin x) = +/1—x

T = A R R X ] 7R IR y=sin x 7E
I:—%,%}EP%'—:iiﬁ]i%iE@aMﬁﬁ y=arcsin x (| x| <

DU B B 0 R BG y = tan w.a € (— 5.5 ) 5

y=arctan x,x € (—oo, +oo) AR BRI B I ) 5 y =
cost,x€[0,x]5 y=arccos x, (| x| <<1)#P & B 8

-,

[ ST

)
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WEY s y=cot 2 (0<<xr<zm)5H y=arctan 2 (— co <
x<+oo) = FuyE i Yk /Y. 1 5 AE TR — B X TE) P, 4%
PREICHT & — — X R Y. 804 R 1 45 5K sin o =sin o B

ST ELE q M | SR B 7

AT B Z e BATE AT LABEAT = A pR L
S5 IEW] T
Bl 1 Kk

2 barceos - —arceos( 1
arccos 7 arccos 11 arccos 77)

BxH%x SXEDSHBNRBT SRR
A% U P BUAY 5% L A i B e AT Y eR A B AT

iE AR cos(arccos ~+arccos -—— )(ﬂﬂﬁnﬁa NEWES

3
CcOS (arccos 7 ) cos(arccos 7) -

. 3\ . _
Sll’l(arCCOS 7>sm<arccos 11 ) —

39 e 3
7><11 \/l cos (arcco 7)><

x/l-co# (arccos %) :%_ 1—<%>“ X

7(i)zzﬁimxm727 40 13

11

EitE T, B &, N 0<Tarccos i<7r90<

arccos <TE i sin (arccos % ) >0, sin (arccos ) >0,

Eﬁﬁﬁﬁl%%ﬂﬂ‘,ﬂ%ﬁﬁuﬂﬂiﬁ

95



= A IR ATE

. 3\ , 3
sm(arccos 7) =,/1—cos <arccos 7)

&,
©
C 13y 18
COS(arCCOS( 77))_ 77
[iL
3 9\ _ 13
COS(arCCOS 7 arccos 11) COS<arCCOS< 77))
B
0<arccos —< X 0<arccos — <X
arccos 7 2 . arccos 11 2
BT A
0<< o 1—0— o i<
arccos 7 arccos 11 T
Y

0<Tarccos ( —% ) <=

ﬁ'ﬁf{[o,n]':lj»y:COSx%ﬁﬂ%&Zlﬁ,ﬁﬁﬁ
3 o_ 413
arccos 7+arCCOS ﬁ_arCCOS< 77>

5] 2 KiF:arctan %Jrarctan %:%
BEHE  AAEDLBOEY), R A A X H
WEYMERN 1,88 511 B X [a] B AT,

UERA  tan (arctan % +arctan % ) =

2

tan < arctan i ) + tan ( arctan % )
1

1
1—tan ( arctan —- ) * tan (arctan 3 )
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O<arctan %<arctan 1= %

O<arctan %<arctan 1= %

i LA

1 1 T
0<arctan 5 “+arctan 3 < 2

MAE (0, ) 7.y =tan x J2 HH B AL 8

1 1
tan(arctan ?Jrarctan 7) =tan =

3 4
T
1 1 _ =
arctan ?—Q—arctan 37

5 3 SRiF.arctan 1+arctan 2+arctan 3=rm.
BEFE HIRIESEAIE N
arctan 2+arctan 3=x—arctan 1

P73 S OE BT 315 R KL

iERA  tan(arctan 2-tarctan 3)= 213 :i:—l

1—2X3 1—6

tan(x—arctan 1) = —tan(arctan 1) =—1

I LA

tan(arctan 2+arctan 3) =tan(x—arctan 1)

N

b T W S
Z<arctan 2<? ,Z<arctan 3<?
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Fr LA
%<arctan 2+arctan 3<x
N
o ___m_3m
2 < g—arctan 1==x 1 1 <m

T o7 ) 2 = tan i) F38 X 1] BF LA

arctan 2+arctan 3=x—arctan 1

Hp
arctan 1+arctan 2-+arctan 3=mx
Bl 4 SRIE
1 1 1 1
arctan 3 “+arctan : “+arctan 7 “+arctan FR)

BEFE A A0 e AT
W IREL TS AT

a=arctan %+arctan % ,f=arctan %Jrarctan 1

8
3t ,
M tan = =—. Tkl a=arctan —.
1—Lxd 7 !

3 5

[F]#E p=arctan %,ﬁiE
4 3 _m

arctan 7+arctan 11

Him].

5] 5 SRIF :arcsin x+arccos I:%( x| <<1).

BEHE  ZLHBOERARZEIA]. A RE L4
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0<arccos 2<x

s . s
——<arcsin x<?

2
P L

T . 3
— —<Carcsin xtarccos r<.—=

2
FHUA 8545 cos(arcdom x+arccos x) =0.
o S s e o el — LT ST
[ =5 AR o Wt — T

A EUETRATH 253 6 5 HEBR — 5 3 i T
[ T HTE 3% B JR S L IE B0 1 i

[ RSO 1 s R M R

JEBH sin(arcsin x+arccos x) =
sin(arcsin x)cos(arccos x) +

cos(arcsin x)sin(arccos x) =

xz+«/1—x2 e J1—2t =

2+ a—aH=1
1]
_%<arcsin x+arccos xggz—”
JiIr LA
arcsin x+arccos I:%

e AR S AT 2 BUE S X RN
—lgarcsin x<£

2 2

e [ — 5 o 43208 . 8 cos aresin ) =
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V1—2" s ] 0<larccos o<, M AE L0, w ], 1E 5% M 1E . #

sin(arccos ) =/ 1—x".

Bl 6 SKiF
ﬂ PR
I(I> D

t +arctan T =
arctan x arctan 1+I 3
*I(I<*1)
BETE M AEDPUEY) I EIEVIME AR5 AT

wig.

N 1—axy\
JiE B tan(arctan xtarctan 1+x)_

1—=x
I+1+x o xtat 1l

1— l—x 1+z—zx+tz2*
1+

12+1:1

2 +1

é\%>o,mu<x—1)<x+1><o,ﬁ1215f—1<x<1.

FERRES
1—=x

Mz F.—">0.
B 1<l HJ‘F’l—O—x/O’

W< —1 8 21 B 120,
1+=x

Mor<<—1 Hﬂ‘,*%<arctan x<*%,*%<
rct ng<0
arctan 7 <0.

it — = << arctan x + arctan 177I< — X i 1
1+ax 4

[ R A A e L
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l—x_ 3=
arctan x+arctan (=
M-1<xr<l1 Hﬂ‘,—%<arctan x<%,0<
t —1_I<£
arctan 39— <5~

W — z < arctan x -+ arctan 1= % A

1+
(- SE ) 1 T 1<
fif
l—x =

arctan x+arctan ———=—

1+2> 4

Mo =1 W, <arctan x< B

b1
_ X -
5 <arctan 1+ —=<0

#r — =~ < arctan x + arctan 1_JC<£. [F) 4 A 15, 4
4 1+x 2

1—=x
arctan xtarctan ———=—

1+x 4
gf L ik B4R

7( N
Z(I> D

1+2x

arctan xfarctan .
_Z(I<_1)

51 7 B4 arccos x+arccos y+arccos =,

SRAE ;2 +y 2t 2ay=1.

BEFZE  FMXH R RKIERXE — MU
2 B SR BLIH R A SR P R X B AT SR 5
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fEIs 5 EREAT 7 Ko 5 B 22 . AR 2T
HIEIEE S ST
MR O

arccos 1'+8.I'CCOS Y= T arccos

i LA

cos(arccos x+arccos y) =cos(x—arccos z)

xy— 1=/ 11—y =—=
xytz=/1—2%/1—"

Jiv LA
(xyt+2)'=0—2")1—y")
Al
22y 2xyz=1—2 —y a2y’
2N IR

'y 2xyx=1
B8 e, fHREBIM,. H(1+tana) (1+tanp =

Zaj‘ziIE:a+ﬁ:%
BEFZE RIEXZ A%, KR =M R
45 2, BRI U 2 T I A R OB K i H S8 |
I T2 0. A A5 1 2 2 A U RO SRk 2 2 11 B

IEY, HFFIE tan(e+R) =1 B HA].
IR AT

tan ¢+tan §=1—tan atan 8

Fir LA
__tangttanB _tanettanp_
tan(a ) = 1—tan atan ﬁ_ tan o+ tan ﬂ_l

KR o BB BLA il 0<<a+p<<m. MM 7ECO, )

EYI 1 QA T it p=
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B9 BEH B NESM, HiE
3sin*a+2sin’g=1 (D
3sin 2¢— 2sin 23=0 (2)

EJE'\LIE:(IJFZIBZ%.

BEFZE MR FM RS RUE A2 5 L
(D H g R 28, % K (2) Y 20 5546 R o T 55
(==

SS%nza:COS 2‘8. A
3sin gcos ¢=sin 28

T T 45 10 2 BT 25 pRVBOR TE 5 AR 5% R T IE]
SRAEZ, AP SR UE 28 0 BUE 3% GF N 1 s R 5%
UEHA 0 BT,

sin(a+28) =sin acos 28+ cos asin 2 (3)

cos(a+2B) =cos acos 28— sin asin 28 €D)
BAER (DT 1, 2R (D% T 0, X550 H 5
a>B TG i (3) Bl X (4) H 9 00 B 3% ] A I A H AR
. PS8 5 5k w] R 254850 6 sin 28=3sinacos as
cos 23=3sin"a A (3) 2z (4) 15

sin(a+28) =3sin’a+ 3sin acos’a=
3sin a(sin*a+ cos’a) = 3sin a
cos(at2p) =3sin’acos a—sin a * 3sinacos a=0

B FATTUE B SR BB — AT 58 . o8 THIER sin(at-
2R =1, BBk 3sin o= 1. HIATRIBEE —AJr &£
fITAIE R & 2 BEACSE o 1. T 1A 3R AT 4k 22 43 B7 40 faf ik
3sin = 1. L E M ARIER WE 5 2 M A0 M i 22
FRFMA A g oRUE T TC B 2 p RIAT. fE 55
= CA P T Ja AR A
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9sin' @+ 9sin*acos’a=
9sin*a(sin’a+cos’a) =1
9sina=1
A o B0 . 3sin o= 1. MM [a] R 3075 At ke
EE 1 WA

cos(at2B) =cos acos 28— sin asin 2=
cos a * 3sin‘qa—sina * 3sin @cos a=

. .
3sin‘acos ¢— 3sin‘@cos a=0

R4 s M B0 e 0o+ 2<% i (0.5 ) o

AN 0 1 HA 5l et 2=

Wik 2 AHRIE .15
sin(a+28) =sin qcos 28+ cos asin 2=

sina * 3sina+cos a * 3sin acos a=
3sin’ g+ 3sin qcos’a=3sin a
i s XA
3sina=cos 23 (5)
(6)

3sin @cos a=sin 28

2(5) . (6)FJ7 Ja M n4s

9sin*a+9sin‘acos’a=1
245 3sina=1, frld sin(a+2p8) =1.
A4 0<at 237 e (0.7 ) i TEBRH 1 0F0 LA

B A

7T

E N B E AR S bR DLW A L A 2R T
SBCRY BRSO — o . fifp R [ JE5E ) 2N — AL 5 AR 7%
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AR R — 28 (B R TR ATTRY 23 A 22 5L IR &% L 4
Bl SR GE— MIE W] 5 vk o il e ) R AR AN 1YL S AR
W — MR A AR e W A E R ? X
SR RRE Y HESR . WL E ot 28— T
AT BAIE cos(at+28) = 0. X # HAE sina+28) =1
R 3 B8 — . B — MR E U L T B A ORI R
% T G5 SR R Bt T BT LR 2%
RAGIFE TR /N A H AL SRR 2 X R Y
Br, Atz = J.
XF T A, AT AR A — A i SRR
3sina=cos 23
3sin gcos = sin 2§

4 sina=wx,cos 28=y. W 144 R

3xt=y
3x V1=t =/1—4y

fift iy AL AT

1 1

TFTy
Hpn
sina:%,cos ZB:%

R asp 8L BT LA

0<2p<m
[i4

U SO
a=arcsin 3 » 23=arccos 3
Mt F—P) | x| <1, 8f

arcsin x+arccos x:%(ﬂ—s”ﬁﬂ 5)
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B LA
1

a+2£—arc51n*+arcco s 2

B 10 KiE. arctan( A5 )*arctan<4@) =

1—asi
knto. Hf kER, .
BEFZE MWBAMBOEY) . R IEA B Z EYHE
ﬂ»jtango EI]EI.

tan[arctan(ﬂ) —arctan(m@) ] _
1=asing cos @

( 2C08 @ _1'_Singo)/(1+ xCos @ a—sin gp):
l—asing  cosg l—asing  cosg¢

xcoszgo—:c+si.n pta’sin g—asing 7
cos ¢ — 2asin gcos g+ x’cos ¢
j‘JTliEJCW)—fPﬂ: tan @, 8053 BE R i AT B A
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